Assumption College Ubonratchathani
English for Science 2

Resultant Force

(wsedns)

Solve for the magnitude and direction of the resultant force.

1.
e
1.5N
A. 2.5 N, to the right B. 2.5 N, to the left
C. 0.5N, to the right D. 0.5N, to the left
2,
2N + 3N
A. 5N, to the right B. 1N, to the left
C. SN, to the left D. 1N, to the right
3
-3 30N
A. 30N, to the right B. 90 N, to the left
C. 90N, to the right D. 30N, to the left
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10 N, to the right

. 20 N, to the left

5N

B. 10 N, to the left

D. 20N, to the right

243N 226M

. 3N, to the left

. 24 N, to the left

. 250N, to the left

. 750 N, to the left

B. 5N, to the right

D. 13 N, to the right

B. 250N, to the right

D. 750 N, to the right

.._::"' 230N |air registance]
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. 250N, to the left

. 750N, to the left

B. 250 N, to the right

D. 750 N, to the right
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A. 3.300 N, to the left B. 0N, car does not move
C. 3,300 N, to the right D. 1,750 N, to the right
9.
F e uag = 135N
Fm =T35N
A. 870N, up B. 600 N, down
C. 870N, down D. 600N, up
10.
&)
Engine Car Trailer
- - ——
6000 N 1000 N 1000 N
A. 4,000 N, to the right B. 8,000 N, to the left
C. 8,000 N, to the right D. 4,000 N, to the left
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